
 

8 • 𝑥 + 5 = 29 

8𝑥 = 29 − 5 

8𝑥 = 24 

𝑥 = 24 ∶ 8 

𝑥 = 3 

 

ա) 𝑦 + 30 = 95 

𝑦 = 95 − 30 

𝑦 = 65 

Պատ․՝ 65 կոճակ 

բ) 𝑎 − 27 = 323 

𝑎 = 323 + 27 

𝑎 = 350 

Պատ․՝ 350 լամպ 

 

 

 

 

 

 

 

 

 

 



 

ա) 26 + 10 + 𝑥 = 57 

𝑥 = 57 − 36 

𝑥 = 21 

𝐵𝐶 = 21 սմ 

Պատ․՝ 21 սմ 

բ) 48 − 𝑧 + 30 = 60 

78 − 𝑧 = 60 

𝑧 = 78 − 60 

𝑧 = 18 լ 

Պատ․՝ 18 լ 

 

4 • 𝑥 = 20 • 2 + 60 • 2 

4 • 𝑥 = 160 

𝑥 = 160 ∶ 4 

𝑥 = 40 

Պատ․՝ 40 սմ 

 

ա) 𝑥 =
5

6
−

1

3
=

5 − 2

6
=

3

6
=

1

2
 

𝑥 =
1

2
 

բ) − 𝑥 = −5
3

5
+ 4

2

5
= − 1

3 − 2

5
= − 1

1

5
 

𝑥 = 1
1

5
 



գ) 𝑥 = 2
3

4
−

5

16
= 2 

12 − 5

16
= 2

7

16
 

𝑥 = 2
7

16
 

դ) 𝑥 = − 1
1

2
− 2 = − 1

1

2
+ ( − 2) = − 3

1

2
 

𝑥 = −3
1

2
 

ե) 𝑥 = −
5

7
−

2

7
= −

7

7
 

−𝑥 = −1 

𝑥 = 1 

զ) 𝑥 = 1
1

8
− ( −

3

8
 ) =

9

8
+

3

8
=

12

8
 

𝑥 =
3

2
 

𝑥 = 1
1

2
 


